EfgmE 1t
KCP-H1015 fexrE 1sm
BRAIBIE 50m
EFETER sn:mm
%,7 T T AN 7N T lg
% g 1 [ 1T 1 T %
- & R1497
&
— 260 15000 (MAX) |
to—- 2640 —J4] § |
« PHA—mRIL
AoE
b8
! ¢914.Zr -
4 o
1 ===
(AT E R
1 " —
| 72 h—Ib bk E
Q =/u = v At
€ g STy ) s oL
) 2 T == 1o
K0 et i} t I I I
AL e
-8 3.1 8 11 15
l i TEEHEE (m) —
il x| KCP—H1015(3 ¥ /\5) B A EVE-rI>bO-LERER) | | 5 | S EhHE Bkw 4P 7' L — *fit
7E 1& T | 1500kg | 1250kg | 1000kg | | ¥ |Bi&| 22.405m(N—ZX&D) ® | 50Hz 16.5m/min 60Hz 20m/min
£ # ¥ £(3.1~8m|8~11m [11~15m| | X | & T &66.0m FfE4.0m £ (88  R|10mmE/ O TARRE 2 A4 (B0m+2H)
&R A E16°~75 (v X MEkERSS') | | b |E 2| TH81380kg FfE940kg i |EEE| 3.9kweP T L —Fxft
fie [@ & 360° Ui@?ﬁi;-i@{‘%@#ﬁﬁ@%@&i B | 50Hz 35°/min 60Hz 42°/min
= A Iy MRSy FT-LReFHR: s |7 =
9713V TEEER 1865kg ROy 7RE-AFETRHLEEE | | 2 A K[EEYY>4—(Z bO-71000mm)
S NE I 50m fe |7 K| 075kwaP GMTL—%f | | L[ A 1.5kw4P
= B 50/60Hz 200/220v | |5® fE|50Hz 0.34rpm 60Hz 0.41rpm| | 7 [3®  EE| L8 0.76m/min T 1.40m/min




